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Recall: Use the midpoint formula to find the midpoint of the points A(1,~6) and B(3,0)
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Recall: Find the slope of a line perpendicular to y=—-3x+2
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Right Bisector - the line that passes through the midpoint of a line segment and
intersects it at a 90° angle.

Sometimes called P‘erPendbellCU" bisectov

Example 3: Equation of a Right Bisector
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Two schools are located at the points P(—1,4) and Q(7,—2). The school board is
planning a new sports complex to be used by both schools. The board wants to find a
location equidistant from the two schools. Use an equation to represent the possible
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What is the difference between aﬁi?ﬁé?ﬁ?‘and a@ {Draw a picture and
explain.}

A Midpowt & G potwt ™ te middle,

\;\Q&\U\f‘
A Medioa CoanectSs midpolt Galdl

od Vertox o atrinmgle.

What are the similarities and differences between finding the equations of medians
and perpendicular bisectors? {Draw a picture and explain.)
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{ Practice:
1. Find the perpendicular bisector of the points A(—4, 3) and B(3, —4).
SC\M 2. Find the perpendicular bisector of the points P(—1,4) and Q(3, —2).

Find the equation of the perpendicular bisector of a chord of a circle, given that
the end points of the chord are C(—2,0) and D(4,—4).

Answers: 1.y =X 2.y=§x+% 3.y:§x—%
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